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- No. of Questions/wwi & wa&an : 150
Time/®%4 : 2 Hours/99%¢ Full Marks/quiie : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
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(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

aﬁm&mh%mmaﬁm%ﬁmmﬁ,ﬁﬁwmm
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1. Condition of equilibrium using cardinal utility analysis can be expressed as

Wmmﬁmﬁmﬁﬂwmaﬁaﬁsﬁmmmg
MU
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2. Ordinal measurement of utility assumes that utility derived out of different
commodities can be

(1) measured in exact number of units
(2) felt only and not possible to measure exactly in units
(3) ranked only in order of utility derived

(4) measured in terms of Utils

mﬁmﬂmﬂmuﬂWWW%ﬁﬁﬁﬁﬁ‘a@aﬁﬁmaﬁm
(1) & K ad g & . w2
(z)mwmmm%@mﬁﬁwwﬁﬁmmﬁ%
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B
(@) ‘gfrem’ % ©9 § AU S G R

3. The fact that each want is satiable gives rise to
(1) the law of diminishing marginal utility
(2) the law of substitution

(3) the indifference curve analysis

(4) the revealed preference theory

%mﬁmmﬁwﬁmmm%,wiﬁ%

mm@mmﬁmﬁ (o) SR & fm =
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4. Zero marginal utility of a commodity for a consumer implies that
(1) total utility of previous units is also zero
(2) quality of the last unit is very poor
(3) commodity is not available for consumption
(4} consumer no longer wants additional unit of the commodity
w I & foe s diara swfe @ oord R
(1) Teeht e @ ww g v oy R
(2) s % B fFwm w59 T 2
(0) T I ¥ o sreew T @
(4) I I 9 B Afafer K A g T FE R

5. All the combinations on an indifference curve give

(1) same level of satisfaction

(2) unequal level of satisfaction

(3) satisfaction depending upon the position on indifference curve

(4) higher level of satisfaction
T g @k 9T vt g 2 §
(1) &gfE F ¥ &
(2) B F FEH T
(3) Sl T% W foeme R ¥ amuR W wgh
(@) =gt = I wW
(188) 3
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6. Indifference curves are convex towards the origin because of
(1) increasing marginal rate of substitution
(2) constant marginal rate of substitution

(3) diminishing marginal rate of substitution
(4) perfect substitutability

Rl % qe forg H 3R IdI BN H FRW R
(1) der sieeames 6 @ wed g8 2

(2) ¥ gfdere # @ R R

(3) Hiora yferem it = vt & R

(4) o SR

7. The income consumption curve is the locus of points of consumer equilibrium
resulting when the

(1) price of commodity X changes
(2) price of commodity Y changes
(3) prices of both X and Y commodities change

(4) consumer’s income is varied

s T ST ¥ aR F H fagell A fem aﬁﬁ’hai% S
(ljxa‘{ﬁﬁﬁﬂﬁﬁqﬁaﬁﬂﬁ
.y ot awe f A § ofadd @
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The ‘substitution effect’ takes place dué to change in
(1) income of the consumer

(2) prices of the commodities

(3) relative prices of the commodities

(4) All of the above

g e B § ohedr & e s B 2

(1) S it 3| (2) TG h Fai
(3) FgH i goTES H (4) It ot

In order to generate very strong negative income effect, the proportion of income
spent on a commodity should be :

(1) very large (2) very small (3) nil (4) moderate

T AF Fers o YW W 3w w0 o, fFft g w oma = wm o R
I aTfEe

(1) &d A (2) aga = (3) = (4) T=H o gy
Ceteris paribus clause in the law of demand does not mean

(1) the price of the commodity does not change

[2) the price of its substitutes does not change

(3) the income of the consumer does not change

14} the price of e=—rlamentary goade 49°° P°T Chagge
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11.

ot % fraw § ‘o w9 @9 @ Wrar @ o e @
(1) T A Fa § wfads T8 @ 2

(2) 3o T Fga A fimdl d ofads T@
(3) IuvEr it ey § giads 9@ an

(4) T g R Hiwd A IREdT T S

A change in climatic conditions resulting in hot weather, prices remaining the
same, would cause a consumer of cold drinks

(1) to move to a lower demand curve

(2) to move to a higher demand curve

(3) to move up the same demand curve

(4) to move lower down the demand curve

dew 6 R § gRads ® o S gy T Aew §, fE e T R, 53
9 & 0w SRa wm

(1) = =1 o | 0 & forg

(2) 32w Tk W IR & o

(@) W A W SR A AT F

12.

(188)

(@) 3@ min @ w AR Ao Im F fo

Situation where an increase in price of commodity may increase the quantity
demanded may be due to

(1) normal law of demand

(2) expectations of further rise in prices

(3) better quality of th¢ ?""duet

@) Both (2) and @)
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e fufy vl B § gfy W0 90 At wEn § gfy o R R, BE e A
2

(1) w1 &% wm= faw (2) vt # 3 gfg A seEmms

(3) Jee R = e @) @) @ (3) I

If there is no change in the quantity of food sold, even when its price had fallen,
we would know that

(1) demand is more elastic

{2) demand is less elastic

(3) demand is perfectly inelastic

(4) demand is unit elastic describing a rectangular hyperbola

g § FHf & dEeg R WA H Aht 97 aeh T P fEdw e R, B
@ gm &

(1) "M s e ?

(2) Wim %W TeER

(3) wim qofaar dreEr ?

(4) 91 R WY R D A R R AR gIwE B AT ) 3

Price changes from Rs 6 to Rs 4 and the quantity demanded changes form 3 to
8. Elasticity of demand is

(1 s @ 1 3) 02 ) zor0
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15.

16.

17.

aﬁmsaoﬁwﬁaﬁa@w4soﬁaﬁﬁ%®‘qﬁﬁaﬁmﬁﬁwaﬁﬂﬁaﬁﬁ
B 8 B Wit R, 79 Wi i« R

(1) 5 2 1 (3) 02 ) =

At price of Rs 3 per unit consumers A and B demand 8 units of commodity X
cach. The market demand for the commodity is

(1) 8 units (2) 4 units (3) 12 units (4) 16 units

3 %o 0 7 FWa W A qu B Iwier X a5 A 8-8 R A @
3 T ¥ fw SR i 3 am |

(1) 8 gl (2) 4 Tl (3) 12 TrEal (4) 16 @Al

When the demand curve is a rectangular hyperbola, it represents

(1) perfectly elastic demand (2) perfectly inelastic demand
(3) unitary elastic demand R —
Sa 9in 9% TAATER TERWEE B R, 98 Ifead wE @
(1) quiea @R | (2) yotaar Aeiraer Wi
(3) T F TS AEGR A (4) qoHcAh &9 @ wiEeR Him
In case of downward sloping demand curve of a product, average revenue curve
(1) coincides with it (2) lies above it
(3) lies below it (4) does not exist
feht g & foro AR R S T A TF F w= A IAd I T
(1) e SR FT T (2) 3% I B @
3) o AR A R (4) foemm = dan 2
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18. The cross-elasticity of good X with reference to price of good Y being negative
means

(1) X and Y are substitutes of each other
(2) X and Y are complementary goods -

(3) the above facts have no relevance to their being complementary or
substitute goods

(4] cannot say without more data

Y TG R AP vl X ag R A9 e @ @ aed 2
(1) X a0 Y Uh-g8 F A &

(2) X a0 Y Th-gR A 7 wwqd §

(3) a@aﬁ%wwmwﬁﬁ#%qmmﬁmaﬁimﬁ%
(4) for e siwgl & $B 78 F@ W g 2

19. When a proportional change in input combination causes

| proportionate change
in output, the returns to scale will said to exhibit

(1) increasing returns (2) decreasing returns

(3) constant returns (4) All of the above

T S wE A s ey el w8 i dfad :
¥ shwd woite & TR, @ b

(1) 3999 3w (2) gmEN BIGR T (3) ﬁ'.\q'{yf?{qﬁ 4) I -

(188) 9
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20. The difference between the average total cost and average fixed cost shows

(1) average variable cost (2) implicit cost

(3) normal profit (4) opportunity cost
e o1 @ T aﬂmfﬁt'mwmmﬁhm%
(1) 3twa sfedwie (2) oTETE AT

(3) aMm ™ (4) AIEL ARTd

21. An increase in a firm’s fixed cost will
(1) change marginal cost but not total cost
(2) change both marginal and total costs
(3) change variable cost but not marginal cost

(4) change total cost but not marginal cost

w i & fer ame § gfg sl

(1) o o § ufada 7 f5 Fa arm q

2) @ @ g ol el 3 e
(3)qﬂaﬂqﬁﬂamﬁqﬁaﬁqq%@ﬁnmwﬁ
M)@ﬁﬁﬂﬁﬁﬂﬁﬁ?ﬁ?ﬁ#’mﬁmﬁ

n9. The ‘expansion path’ is the locus of points of producer’s equilibrium resulting

when the
(1) price of labour input changes

(2) price of capital input changes

(3) money outlay of the entrepreneur is varied

(4) entreprency’ shifts onto a higher isoquant

10
(188)
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TER 99 IARE F @ & fagal @ fiem aen ww } S oS g R, W
(1) = 2w 6 Fya § Rada @ar 2

(2) €t omra & fma § wiedw g R

(3) Jft g W =g A ofwda e wmar 2

(4) Jerft 32 wEEfy 9% W S R

Which one of the following is not a formula for marginal cost?

o= o w Fafafaa 4 @ @9- gy ad 87

ATC
(1) MCy =TC, -TCy _, (2) MC=—

AQ
(3) MCy =TVCy ~TVCy (4) MC=TFCy —TFC_,

The slope of a line from the origin to any point on a total revenue curve shows
(1) price per unit (2) average revenue
{3} marginal revenue (4) Both (1) and (2)

T /3 7 % Feft g A el @ PR O Y @ aw v wa
?

(1) s % F (2) AW I (5) W am g) (1) @ (2) 3

Isoquant convex to the origin means

(1) increasing marginal rate of technical substitution
(2) constant marginal rate of technical substitution
(3) decreasing marginal rate of technical substitution
(4) None of the above

11
fT0,)
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W 9 e A iR e R § A
(1) Tt gfeeame #t Hin R ded! T 2
(4) IWE § A F§ T

26. The opportunity cost of a factor of production is
(1) what it is earning in its present use
(2) what it can earn in next best alternative use
(3) what 1t can earn in the long period

(4) what has to be paid to retain it in its present use

(1) 98 adom 3w # Fn affa = @ 2

(2) 98 GIUE Yfeus Iwam F w0 ARG W FHA
(Slaﬁmﬁﬁwﬁamm%

(4) 3% 4 I § FEE T & U R A o 2

27. Which of the following is correct regarding long-run cost curve?
(A) It is least cost of producing each level of output
(B) LAC curve is envelope of SAC curves
(C) LAC is U-shaped

Choose the right answer :

(1) (&) and (B) o0 (2) (B) and (C) only

@) (8 and (©) 5 ) (), (B) and ()
12
(188)
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QA T T b wed § Frafufee § @ o wd 27

(A) S F FH TR R I FQA h =T A

(B)-mmaﬁ STHIAR AT T H THIMRA (envelope) F T aF
(C) Gt @ T (U) Tl &1 B 2

&l IW g
(1) ¥a@ (A) @ (B) (2) %3 (B) 71 (C)
(3) #3% (A) @ (C) L4 @), B T ()

Given that cost conditions are same, in monopoly price is — and output is
as compared to perfect competition.

(1} higher, same (2) same, lower (3) higher, lower (4) lower, higher

mmma@aﬁm,wmaﬁmﬁwﬁmﬁ'mm%
—— [ I Bl R ——

(1) 3, w0 R, M @) d, d @) 9, 2

Oligopoly is a market situation, where

(1) there are few firms producing close substitutes

- (2) there are few firms producing entirely different goods

(3) there are few firms producing complementary goods

(4) there are two or more mOnt)poljsﬁc firms

13
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FeqfER AW # am R, e

(1) 9 & Fepe I MR Fegell &1 I F! 2
(2) F8 ¥ st qoiey ¥ fim aegel = sane wA €
(3) ¥ T W [ awgall F IeA Flt

@) Q W e e A

30. The equilibrium is unstable and indeterminate under

(1) Edgeworth’s duopoly model (2) Chamberlin’s oligopoly model
(3) Bertrand’s model : (4) Pareto model

e HfeR W@ ARy g @

(1) Tsad % g Aise H  (2) T % SeniER diee d
(3) 9 Aizwt H (4) 9 Aied #

31. Perfect competition is characterised by all the following, except
(1) considerable advertising by individual firms
(2) no restrictions on entry into or exit from the industry
(3) a large number of buyers and sellers

(4) well-informed buyers and sellers with respect to prices

i st Fet & o 3 Tt 2, e
(g,mﬁmamﬁmmmmﬁmqam
(3) Mﬁwmﬁﬁﬂmm
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33.

34.
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Pure monopoly means

(1) any market in which the demand curve to the firm is downward sloping
(2) a standardized product being produced by many firms

(3) a single firm producing a product forwhich there are no close substitutes

(4) a large number of firms producing a differentiated product
g Tt & a3
(1)ﬁéﬁmﬁqﬁ¢dmuﬁaﬁ=ﬂ%ﬁaﬂtmﬂm%

(2) T yiie o5g W a5 @ o F gu sanra f oW @ 2
(3)@mﬁﬁwﬁmmwm%%ﬁwiwﬁﬁ

@ wH R e wEom N frigem Tl w1 3w W

Excess capacity is not found under

(1) monopoly (2) oligopoly

(3) monopolistic competition (4) perfect competition
Hidlh IATe Guar T o S 2

SR (2) s

(3) HtrbrTeRes Sfodifivar (4) T wRwRm

(1} its marginal revenue curve only

(2) its demand curve only -
(3) both its demand and marging) revenue curves

(4) neither its demand nor jtg marginal revenue Curve

15
(P.T.0,
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& fayg wanf g & oftwd oW % TAW gl @
(1) Faw g T I &
(2) *Id | TH F
(3) Wi W@ HiW= ™ 9% Al &
(4) 7@ A TH N T @ o o TH F
35. The monopolistically competitive seller’s demand curve will become more elastic
the '
(1) larger the number of competitors
(2) smaller the number of competitors
(3) greater the degree of product differentiation
(4) more significant the barriers to entering the industry
e Seantt fsan @ AT 9 3t arferh SRR B
(1) SR # e e W
) sfefiel e ¥ T W
(Slamgfaﬁaiftaﬁ& Al B W
(4)3@ﬂﬁﬁﬂaﬁﬁﬂﬁﬁ§ st R B W

36. A price and quantity fixing agreement is known as

. 7) price concentration
(1) collusion (2 P

(3) price leadership (4) game theory

16
(188)
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dwa wd wE Puifa w9 aon wehe s s @

(1) Tasiem (2) $ I (3) Fow dgE (@) W ol

In the Ic;ng-mn, under perfect competition price of the factor is equal to
(1) Marginal Revenue Product (MRP)

(2) Average Revenue Product (ARP)

(3] Both (1) and (2]

{4) Marginal Physical Product (MPP)

e, o R # Rt e A A s 2

(1) ¥ 37W SEcwm (MRP) % (2) oitga s Sewresa (ARP) &

(3) (1) = (2) 2} F (4) dm= Mfow g (MPP) ¥
Causes of differential rent was explained by

(1} David Ricardo (2) Malthus

(3) J. S. Mill (4) Adam Smith

fovlerers @ % Sl B wmen B ¥ go § 0 @

(1) e Al (2) wruw @) Jo wWe B (4) wew oy
In the long-run, quasi-rent wij] be

(1) infinite (2) zero (3) positive (4) negative
QUFE U, AVE TR [

(1) wifm (2) I3 (3) HATCHS (4) e



16P/239/3

40. Which one of the following is not the determinant of factor demand?

(1) Derived demand (2) Productivity of factor

(3) Work-leisure ratio (4) Degree of substitutability
frfafga & @ *-m oA oin w1 o Fufe T 27

(1) ogcqa | (2) §TEA s Iedreehal

(3) FE-HATH U (4) T H BT

41. Value of Marginal Product (VMP) is defined as
i Janewal 1 qed (VMP) $@ YR ufenfa fmn smn @

(] MPP x MR (2) MPP x AR (3) APP x MR (4] APP x MPP

42. The classical theory explained interest as a
(1) reward for saving
(2) reward for parting with liquidity
(3) reward for abstinence

(4) reward for inconvenience

e fagra 3 s @ fonfe fR S @
maaaﬁaﬁmwa‘@ﬁ
(Q)W%mﬂ%ﬁmwﬁ%mﬁ
() s % o g % = A

) g TR &

18
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Net profit is equal to

(1} Total revenue - (Total cost + Depreciation)
(2} Gross profit — Implicit costs

(3) Gross profit ~ Explicit costs

(4) Total revenue - Total cost

U¢ W9 R Far 2

(1) T 3 — (T A + T4 FH)

2) $d AN — IFTH A

(3) A Y — =xe6 wwrd

(4) 7 A — Fd @A

Under condition of monopsony in the labour market, the trade union can
succeed in achieving higher wage rates

(1) without decreasing employment (2) with increasing employment

(3) without unemployment (4) All of the above

% TR H TEieeR R m@ﬁﬁ@ﬁammﬁmém
5 N

(1) fom a9 f = an (2) I ¥ 35 % gy

(3) fo SO & (4) I ouft

The demand for money for tr ti ive d i

Of y ansaction motive depends chiefly on current Jeye]
(1} expectations (2) profit (3) income

19 ) Rate of i terest

P.T.0,)
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460

47.

(188)

mmﬁm%mgﬁﬁnﬁmmﬁﬁw%aﬁmwmﬁvﬁm%
(1) Semmat (2) @™ (3) 3™ (4) =9 B T
Assume that the reserve requirement is 20 percent. If a bank initially has no

excess reserves and Rs 10,000 cash is deposited in the bank, the maximum
amount by which this bank may increase its loans is

(1) Rs 2,000 (2) Rs 8,000 (3) Rs 10,000 (4) Rs 20,000

Wﬁ?ﬁﬁﬂﬁﬁﬁﬁaﬂﬁaﬁmzouﬁm%lﬂﬁfﬁﬁ%%mmﬁaﬁaﬁﬁ
ﬂﬁa‘qﬁ%aﬂtﬁmﬁ1o,oooaomm@m%,a’r§$mm®mm
Hhal §7

(1) 2,000 %o (2) 8,000 %o (3) 10,000 ¥  (4) 20,000 %o

In the Keynesian model, an expansionary monetary policy will lead to
(1) lower real interest rates and more investment

(2) lower real interest rates and lower prices

(3) higher real interest rates and lower prices

(4) higher nominal interest rates and more investment

S e B TERErd A A s feafefan &

A b

) v @ @ Hwa & w0

(3)'ﬁamﬁﬁmﬁﬁqﬁﬂa@ﬁ'm

20
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Which of the following will most likely occur in an economy if more money is
demanded than is supplied?

(1) The amount of investment will increase

{2} Interest rates will increase
(3} The demand curve for money will shift to the left

(4) The demand curve for money will shift to the right

W W ol 7 fowd g A i s O/ @ e 2, Aofiie § @ R
B & e Taife 22

(1) Faw & e § gig &nh

(2) == = § 3fz anft

(3) g% H A % &l SN Frurfia Beh

(4) 5 ain 3% TR o Rt B

In the country banks charge 10 percent interest on all loans. If the general prige

level has been Increasing at the rate of 4 percent per year, the reg] rate of
interest in the country is

A % W W {gmmwméwﬁmﬁqﬂ:mﬁ4
aﬁ%aéq%%fiﬁf"ﬁ;ﬁwmamﬁm&m-m-mﬁamahﬁ?ﬁmgﬁ

(1) 14% (2) 10% (3) 6% (4) 4%

If the number of people ClaSSiﬁed as uncmp]oyed is 20000

fied s S e, e esemple and the nymp,
cople classified as enipioyed-ie 230000, Wrar-4x d umber of
e unempb}’mf:nt rate?

aﬁéﬁwﬁﬁmzoooomﬂmﬁﬁﬁﬁ@- ,
U9 @ T Bhe T 230000 2, #

894, (2] 8 7% 20/
) 13} B (4) 1159
21
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51. The demand curve for investment is downward sloping. When it is graphed, it

shows on the horizontal axis and on the vertical axis.
(1) income, investment (2) investment, income
(3) investment, the interest rate (4) the interest rate, investment

faw @ A g 9 6 o frd 2 sm @ Bm ¥ memm @ fefa oS, @
— A g W aw 3qu A W WeRfa g Rl

(1) 3m, fraw (2) Paw, (3) fRw, &N @ (4) W &, fRW

52. The life cycle hypothesis on consumption behavior suggests that people at
various stages of the life cycle

(1) spend everything they earn so saving ends up at zero
(2) increase their marginal propensity to consume as income increases
(3) decrease their marginal propensity to consume as income increases

(4) have differing MPCs, which is still consistent with a constant MPC for the
economy

mﬁﬂﬁsﬂmﬁm%m%%eﬁﬂmmwﬁ%&amaﬁ

a .
(1) 32 ot f T 2 o @ w24 § Rl e R S R

(mmmﬁq%%mamm'mﬁ%ﬁgﬁm%%

(B]Hﬁmﬁgﬁ%m_m“ﬁﬂﬁ%ﬁmmﬁ

(4]3:;@MPCW'WW%W““WW‘*W@%HMW%
a1 ¢
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53. An increase in total production (real GDP) causes the demand for money to
and the interest rate to

(1) increase, increase (2) increase, decrease
(3) decrease, decrease _ (4) decrease, increase
T I (TRAfEE Modloflo) H Fhg F FU FFH A W —— W =W «

—
(1) =edt, sgdt  (2) oedl, gedt (3) =, = (4) W, R

54. As the economy nears full capacity, the short-run aggregate supply curve

(1) becomes flatter (2) becomes steeper

(3) shifts to the right (4) shifts to the left

T s 8- U s % e wded R, semmea g o
(1) Gwae gt ot (2) T B el 2

(3) TRl i frefia A 2 (1) =t i forenfs 9 2

55. The neutrality of money refers to the situation where
(1) increases in interest rates are matched by decreases j
€S 1n the price
of bonds

(2) increases in interest rates are matched by inoveases in th, T
ce of bonds

(3} increases in the money supply eventually result in ng change in ol
Teal output

(4) decreases in the money sy

pply result in increases -
—p— €8 In the Interest rate i, the

(188) 23
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S6.

57.

(188)

T I eR T b oRfEf A ghk e 2 R
(1) == R 4 3 F w0 avg fial 4 0 T 3
2) = @ # gfy % wu aive o # gy A 2

(3) g1 #i qfd # 3fg # F¥ WG araflaF T W T v=a
(4) g1 Hit gfd § wft stogee § =W @ H o R

When nominal supplied money increases by 10%, then

(1) GDP, investment and consumption decreases

(2) GDP, investment and consumption increases

(3) interest rate decreases, while the change in investment and consumption is
ambiguous

(4) GDP and Government deficit increases

af gz # O B 10% H gig F I 2, @

(1) Gﬁo@otﬁo,ﬁaﬂt{aﬂ‘ﬁﬂﬁ'ﬁﬁ@ﬁ

(2) odtotfto, Fidm @ 3w # g &f

(3)maﬁﬂ@ﬂmﬁﬁ%ﬂqémﬁﬂﬁqﬂaﬁﬂ%mﬁﬁﬁmmg
FB T8 Fe I Feha

l4)aﬁoﬁotﬁoqéwaﬂﬂﬁﬁq@ﬁ?ﬁ

If the consumption eurve is drawn through the origin, then

1) consumption and income are the same

(2) the marginal
(3) autonomous saving is very high
mous consamption is zero

24

propensity to consume is zero
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59.
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I I 3% qafeg @ E 9@ R, @
(1) I0im @ F s E - (2) Hmra Il wgfy g e
(3) W F9a sga e dnf (4) @R 39T 3= g

If the Central Bank sells bonds to shrink the money supply and the Government
decreases spending, then (in the short-run)

{1} investment will increase while the production may rise or fall

(2) production will decrease and investment may rise or fall

3} investment and production wil definitely increase

(4) investment and production wiil definitely decrease

g A A R ¥ o S 49 a3 2 qw (s 3w
%GR =g B ¥4 Ay 9w R, At

(1) B A ofg Sft st s we @1 97 TEa 2

(2) ST 7 g M s Faw = T w3 w2

(3 P w s B W a |

(4) N @ I At w1 & w3

If the equilibrium output indicated by IS-LM is above the leve] co
NAIRU, all of the following are true, except (be sure to think
differences between movements along curves and movements of

(1) this is not a sustainable IS-LM solution

(2) inflation will rise, shifting the prior LM to the left

nsistent with

through the
Curves)

(4) unemployment is below the NAIRU, so wages are rising

25



16P/239/3

60.

(188)

HﬁJS-L}\Jamyaﬁfawmmw NAIRU 3gd &R ¥ F=1 8, a1 feferied
§ 4 Rl Oiow 9 S g9 @ (T Th 9 W weuE @ feenfid @wt %
Tl # s faem)

(1) T8 U% T [S-LM @HEH T8 8

() whfy & gfy @t 7N veR A fou LM A ol SR frar g

(3)$%wmﬁwﬁaﬁmmmmaﬁmﬁaﬁtﬁwﬁa

(@) Sf ST @ NAIRU & 99 ¥ wafore el & gfe w0

Surendra makes Rs 30,000 per year and can invest wealth at 5% (real) per year.
He believes that he will receive an one-time bonus of Rs 15,000 next year, but
expects that this bonus will have no effect on his future labour income. Assume
that Surendra would like to consume the same amount each year for the rest of
his life, which he expects 1o last 50 years. The permanent income theory of

consumption implies that he should

(1) increase his consumption by Rs 15,000 this year

(2) temporarily increase his consumption by Rs 15,000 this or next

year

(3) increase his yearly consumption by approximately Rs 300 or slightly more,

starting this year
) increase his yearly consumption by approximately Rs 300 or slightly less,
starting next Yo

26



16P/239/3

gtz 9 =¥ 30,000 T T R AW 5% SwEfyE B o ¥ Wy § ERw W
HHAT | 9E W} R @ @ ad w9 15,000 %o dF@ femm et =@
SEh A d oA A 9w Am waia T @ A S gy e @ fr sed
w9 frht 50 a1 i 2 ok 37 TR ¢ w TwE I A ORG 2 TR A
TRFe F FER [

(1) FH 3 & S I 15,000 % & TG 3 R

@ % 7 A ww w w swem s w A 15,000 T @ a@ A
S (i

(4)%3&%@%%{%@34@%@%%’!300'60msaﬂéﬁmmam
¥ v

61. “Note that the percent change in the GDP deflator is bein
of inflation rather than the more familiar CPIL The
that samples

g Used as the measure

GDP deflator is a price index
, not just those paid by consumers.”

(1) all prices, including imports

(2) prices of all domestically—produccd goods and services

(3) prices of all domestically-produced goods and services €Xcept exports

(4) prices of all domestically-produced goods ang —
I'Vices
produced by Government €xcept thoge

(188) 27
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62.

(188)

Wa%motﬁoaﬁo%mmaﬁo@oﬁomﬁﬁmaﬁgm@ﬁ%m%m
@it fEm S @ 21 Noloflo sEhiftERE WE IUWRAIS g IHT T T A
afeh W ament@ Bl gl

(1) @@ A e @ ge e S
2)%Wﬁwﬁamﬂmaﬂqa@maﬂﬁﬂuﬁ
(3)%ﬁa\wmm_ﬁwﬁawa@ﬁqaﬁm3ﬁﬁﬁnﬁ

(ﬂmammﬁaamaﬁa%iﬁwmamwnﬁwﬁawmﬁ@
Faall N e

When economists speak of the ‘demand for money’, which of the following
questions are they asking?

(1) How much cash do you wish you could have?
(2) How much income would you like to earn?
(3) How much wealth would you like to have?

(4) What proportion of your financial assets do you want to hold in non-interest
bearing forms? '

Sa et E@ﬁﬁh’%ﬁiaﬁm@%,a’téﬁuﬁﬁmﬁﬁﬂq—mm@@

(g]mmﬂmaﬁamm%?

) o el @ Q@ R

[4)mmﬁwmﬁmﬁ-m%mm—mmﬁmmﬁ?
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63. The multiplier in an open economy is
as income level increases,

than in a closed economy because,

(1} greater, there is a wider market available
(2) smaller, some of the increase will be used to buy imports
(3) greater, exports become more attractive to foreigners

(4] smaller, consumers buy goods that had previously been sent abroad

& Gol sea § s @ g avdfsraea g H — AW 2 w9
R A g AR, @ — |

(1) 931, MemgFa 51 a=R 3qesy By 2

Stagflation is the most difficult fhacroeconomic problem to addregs because

(1) if the RBI expands the mo}lcy supply,

the inflation rate wj] fal, u -
: i » Ol g
output, which is already quite low o

(2) 1if the RBI reduces the money supply, the out

put will rise, by will
inflation rate, which is already quite low the

(3) if the RBI expands the money sy

pply, the inflation rate will ri ,
and output will fall even lower 11se even higher

(4) if the RBI reduces the Mmoney supply,

the inflation rate wjy £ _
output, which is already quite 1ouw all, but so wipg

(188) 29
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16P/239/3

65.

(188)

STTegaT ThR ged e gufy onfiE wwen } wEifE

) f pel mr A O T 2, @ whR QWA A feg v 3 @ e
T W HNg Iared off FF @ S

tﬂmﬁRmmaﬁ{ﬁﬁm%,aﬁmﬁa@mﬁﬂm%@ﬁaﬁ
W W Hisg whifd @ off =g s

(S]ﬁRBIH;TEﬁqﬁaﬁaﬁfﬁﬁ%,ﬁnﬁﬁﬂaﬂiuﬁﬁémaﬂTm

“High demand in this year’s economy caught producers unaware, forcing their
inventories to absorb this demand.” How does this inventory change appear in

the GDP calculation when adding up all expenditures?

(1) 1t is added when measuring GDP, as an element of investment demand
(2) It is added when measuring GDP, as an element of consumption demand
(3) Itis subtracted whert measuring GDP, as an element of investment demand

(4) 1t 18 qubtracted when measuring GDP, as an element of consumption
demand

gt i A A A A FORH A S = fon frEd T o i ()
auﬁﬁr@ﬁmaw”sﬁzﬁﬁsﬁwmwmﬁaﬁgaﬂm
ﬂﬁa@eﬂo@otﬁoaﬁﬁﬁmwﬁam?
(1)sﬁﬁamﬂﬁ%ﬁma%wﬁeﬁozﬁomaﬁm%wsﬁam
(2)Eﬁmﬁ“*@maﬁwﬁﬁhoﬁﬂﬁoiﬁmﬁﬁmiﬁg{m
(3}@ﬁ&ﬂ“ﬁ%@mﬂ3%wﬁaﬁoﬁoﬁoaﬁm$mmm
{4)ﬁmﬁ%@mﬁ%@ﬁiﬁ0ﬁoﬁ0ﬁm%mmm
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Goods and services are valued at market prices when calculating GDP. Because
the ‘outputs’ of Government are not sold, they have no market prices. In the
actual calculation of GDP

(1) they are valued at zero
(2) they are valued at the cost of producing them
(3) their value is estimated from a surve.y of recipients of these services

(4] their value is estimated from the market prices of similar market-provided
services ‘

Hododte i T W T gl @ VAR W qEIET TER FET w2

I v & s’ ® oA T oam s o+ aen g @ dm e
Sftodtodto &t oy F TR

(1) [ & SR W1 @ 2

(zysﬁmm%ﬂﬂmmwﬁ
(3)ﬁﬂmaﬁaﬁm$@mﬁa}lﬁ%a&m%wmmm%
(4lﬁ%mﬂwﬁ%ﬁn§%mﬁ%mw%mqmmmg

If the multiplier is 3, the marginal tax rate is 20% and the mo

. _ oney multiplier is 4,
a Rs 10 crore increase in Government spending will cause the Government
budget deficit to

(1) increase by Rs 10 crore (2) increase by Rs 6 crore

(3) increase by Rs 4 crore (4) decrease by Rs 6 crope

31
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68.

69.

(188)

I U H gew 3, HE W @ 20% d9T gg1 O 4 B, A WER & =4 §
10 T3 %o N Iy T wda T A

(1) 10 FAT Fo F wUN w1 M (2) 6 FAT To F WO Fa@ M
(3) 4 g %o F T g M (4)6@380%3{7&?3&7%.

The Real Business Cycles theory claims that business cycles are caused by
(1) supply shocks such as technological shock, wérs, political upheavals, etc.
(2) increase in aggregate demand

(3) decrease in aggregate demand

(4) None of thesc

SN 9% F1 AERE Rige 78 e § Fh AR 96 Fe w S d e
(1) wAR 39T, Tg, Torfifoeh Jue-3ae 98 qfd o @

(2) @m =i & 3fg |

(3) @ win § w4 A
(4) T & P13 T
in taxes will decrease consumption spending and in transfer
payments will increase consumption spending.
(1) An increase, a decrease " (2) An increase, an increase
(3) A decrease, a decrease (4) A decrease, an increase
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A —— INM =W AW T RN e PEH § —— Im =y d
gig amh -

(1) 3fg, =h (2) 3fe, g (3) w4, w+h (4) ¥R, 3ig

Which is the following in not true about the fixed accelerator model?

(1) The capital-output ratio is assumed to be constant

(2) Complete absence of excess capacity is assumed

{3) The lagged capital-output relations in this case is givenasl, =B (Y, , -V, ,)
(4) The capital goods industries have surplus capacity

R = Yo & wa § i 3 @ $h-a T ol o 3,

(1) {oh-scamed ow ) fRr ue fRen w2

(2 ot I g R R R b sefm v s 2

(3] Iofl-3T 1 Fwa wew w1 R L, =B (Y,., -V,

(4) U5ma agell ¥ 3@ § 9w e a2

With different values of o« (propensity to consume} and B (accelerator coefficient)

Samuelson in his theory of businegs cycles clatmed that there Will be expjoc
cycles for the following values of o and B plostve

(1) «=0-5and p=0 (2) =06 and B = o

f3) a=0-5and[3=1 (4) a-_—o.aa_ndB:4
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a(mﬁ%)@ﬂ(mm)%%ﬁHW%mmﬁgmﬂm
=R 9% g 3§ g8 we fn B e 9% 9@ W a1 R W6 o W B A
7w freeq @ B

(1) «a=0-5T p=0 (2) 0 =06 W g =2

(3) «=0-5T p=1 (4) @ =0-8 T B=4

72. Which of the followin '
) g does not appear le - :
investment multiplier? PP as a leakage in the working of

(1) Liquidity Preference (2) Financial Investment

(3) Net Imports (4) Absence of Excess Stock
St 3 @ 2 AW T § T (leakage) % ¥ 3 ufw 7 dar?
(1) e A | (2) forfm faw

(3) Y& FAM (4) it =i R sgafets

73, Which of the following statements best describes Keynes view on working of
bank rate as a method of credit control?

(1) He says that bank rate does not influence the economy at all

2) He argues that it affects the economy through its influence on long-term
interest rates '

(3) He argues that it affects the economy through its influence o short-term
interest rates

(188) &
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frfafen & @ FF-w1 o @@ fw fl @ A % = 3% @ & 9@y 8
9 % =R # 78 w0 el w27

(1) & 3ed § 7 9% q snformewr 7 fegs wike & =@

(z)asmﬂ%%ﬂ%aﬁmaﬂqmaaﬁmﬁam%mmﬁMﬁ
wnfad =

(3) 9 W 2 % wR o wWE R F IR G ¥ T 3 e @
uIiad FaT

(4) 30% § @ S 58

According to which of the following hypothescs, consumption is irreversible?
(1) Absolute Income Hypothesis (2) Relative Income Hypothesis

(3) Permanent Income Hypothesis {4) Life Cycle Hypothesis

= 4 3 g ofewe ¥ STER 9 IrgshAelt A B2
(1) Ag s ofeeq (2) 04 I YfHeq
(3) wft 3l (4) Sfaq =% uftwe

Starting from an initial equilibrium in the IS-LM model, how would you model
the effects of a stock market boom that incrcascq autonomoyg consumption
and contractionary monetary policy that sought t0" prévent inflatj

(1) The IS curve would shisk 14 the left and the LM curve woyjq shj

1t to the left
(2) TheIS curve

would shift to 1, right and the LM curve Would shift t, the left
(3) The IS curve would shit tg the left and the LM Curve woulq shift

to the right
(4) The IS curve would shift to t,

e right and the LM CUIVe oy
right

shift to the

35
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IS-LM #iea # wrfvm ang 6 fRfd & wow FQ g AN R gER § OSER
(boom)ﬁaﬁmmﬁqﬁam%wgﬁvﬁ%aﬁﬂaﬁﬁq@émﬁ
T g s A B F wehia w0

(1) 1S % W@ LM o% i iR foeurfia &

(2) IS ¥ zrff i @ur LM a st ol fawafta @i
(3) IS % aRfl 31T Ao LM a5 gl o feeenfua dvm
(@) 1S T LM =% =off 3t frenfia &M

76. IfA=(1,23),B=(XY) then the number of functions that can be defined from

A into B is
aft A=(1,23),B=(X,Y), ® AQ B ¥q werl @ oferfia @en gt
(1) 12 (2) 8 (3) 6 4 3

X -X

7. lff(X)=2 i ,thenf(X+Y]-f(X-—Y)iscqualto

pid f(X]:gx ;TX, @ f(X+Y)- f(X-Y)H TR B

(1) g[f(2X)+f(2Y)] (2) L1f(2X)-f(2Y)]

@) L(f(2X)+ F2Y)] (@) L(f(2X)-f(2Y))

200X

78. If /"' %%—%, X ¢(-10,10) and f(X)= k'f(mm Xg} then k =

200X
IR /X J%%’ X €(-10,10) q&1 f(X)=k'f[mO+X2} q@ k & WA g
1 =

i) 05 @) 06 (3) 07 (4) 08
36
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79. Which of the following are functions?

= 4 3 S-ar wem 27
(1) [(X,Y):Y?2 =X,X,YeR] (2) (X, Y):Y=|X]|, X,Y R]

B) (X, Y): X2 +Y? =1, X,Y e R} 4 (X Y):X*-Y?=1,X,YeR)]

80. The domain of definition of f(X)=VaX-Xx? is
TRAIR ST £ (X)=V4X - X? T X9 gm

(1) R-[0,4] (2) R-(0,4) (3) (0,4) @} (0,4]

81. Differential of X* with respect to X will be
X % g9 XX F JaFa am

(1) X2 .10 X 2) X2 .log X
(3) X% {1+logX) (4) X% (1+log x)

82. Differential of X¥* with respect to X will be
X & wy X F1 e am

Jk({logX 1
w T ) A Xx[bg«/i Jlr}
] 4 xx(logx |
(QJ_ J—} l 2X +X)
(188) 37
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83. Differential of (X*)* with respect to X will be
X % @iy (XX)* # 3@HeH M
(1) X**(2log X +1) (2) X-X*"(log X +1)
(3) X -X*'(2log X +1) (4) X' (log X +1)

84. 1f X' = * ") then %% will be
dx

gfe X' =X ) Efldxﬂqﬁ@"ﬂ

X -log X log X2 log X? log X
) ———— 2) —=2—— 4 SEBEE Gy e AR
(1+log X) 2) (1+log X) ) (1+1log X)? (1+1log X)?
85. If X' =Y*, then % will be
o x' =y, @ EFI uH e
y ! Y—Xlog}h ‘ 2 K\'XlogY-—Y}
g X|{X-YlogX| X|YlogX-X
x[X-YlogX] @) EFXIOgY—X}
(3) '{,‘ Y - XlogY | Y [YiegX-Y
2 dy .
86. 1f X =at and Y = 2at, then 71? will be
£ K-a? WY = 2ata’t aﬁrmﬁ’@m
1
@ t @ = @) 2t

1
(1 r
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e +et e —e!

If X = and Y =

, then ﬂ will be
dt

4ot ‘_et o dy
uﬁx:e"; amy =% 28 ,a’tdtmmm

X X X Y
1} — 2 = L) —
(]Y ()Y2 (3)Y (4)X

If f{X)=logy2(logX), then f'(X)at X =e will be

M f(X)=logy 2 (log X), A f'(X), X =e W AW

1) 1 ) o 3) le @ -
Given f{(X)=-4Xx8, t.hcr-l

f(X)=4X° & for

(1) f(5)=r(-%) (@) F($)=-f"(-%)

(3) f(3)=F(-3%) @ f(3)=r"(-4)

IfV1-X° +V1-¥® =03 (X® -¥?} then % is equal to

af V1- x° +‘\/1-Y6'-=a31433 -v3, @ %W am

2 6
LS R GRPNS G (L L wp

(1

Y5 1ox6 X1 P yEime e X v-xe
X? 1-y®
39
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91 [(1-X)-VX -dX will be
[(1-X)-VX -dx ® 7= gm
(1) 3x23-2x524¢C () 2x¥2-2x52+cC

(3) 2x?3 _2x25 ¢ (4) 2x32-2x32 ¢ C

2

1 3
92. I(X2+"j(_) AX will be

j’(x%l]adxwmﬁfn_

X2
x7 1 3 b G |
(1) & - ——+Xx3-=+C i 3_3
7 SXS X+ (2) 7 +5X5+X X+C
7 1 3 3 7 1 3
3 — ———+ X' —-——+C e e XY
(3) X7 5x5 X+ | (4) X7+5X5 X +X+C
3 y2, ¥—
3. [X i:x L 4x will be
x3-x%2+X-1
]‘ = dX & "HF ¥
2 3
x? X2 x*_X°
(n __?_’_.+-—2—+X+C (2) 3 3 +X+C
3 y2 X x4
o 55 @ g R

(188) 40
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94. IloiXdeillbe.

jk’gx dX &1 9F B
2 2 2,2
(1) 1°g2X +C (2] l°32X +C (3 ____(10g2X) +C  (4) ——-—(logf) e

95, [ V1+eX .e*dxX will be
j\fl+ex e*dX ¥ 9 ‘@m
(1) 2(1+eX)?? 4 Q) 2(1+eXy¥2 4

3 Fi+eXP?uc (4) §(1+e¥)?34c

96. The function f(X) =2log (X -2)+ X2 +4X +1 increases on the mnterval
T f{X)=2log (X -2)+ X% +4X +1 Fgar RN AN T F sy
(1) (1,2) (2) (2,3) (3) (1,3) (4) (2, 4)

97. For the function f (X)= X +%

(1} X =1is a point of maximum

(2) X =-1is a point of Minimum

(3) maximum value > minimum valye
(4) maximum value < minimup Value

(188) 41
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e f(X1=X+§=?5 fera

(1) X =1 % forq forg atfrram = (2)X=—1%.1%f'1ﬁ%=’fm'€"“

(3) wiferchdn qea > YA Ted (4) M qed < AT ToA

98. The function f(X)= i (X -r)? assumes minimum value at X =
r=1

e f(X]=i(X—r)2 FaH WM X =

r=1

(1) S ) 3 (3) 3 (4) 2

99. Let f (X) —9x°% -3X? -12X + 5on[~-2, 4].The relative maximum occurs at X =

sUE [-2,4) ¥9 G fem R f(X)=2x3—3x2-12x45. e sl
g X =

(1) -2 @ -1 @2 4) 4

100. The minimum value of X -log, X is equal 10

X-logeXWWW@T“

iy & @) -e @ ; @ -

(188) 4
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The utility function of a consumer is U = X, X2 -10X,, where X, and X, are

quantities of two goods. For given product prices Rs 2 and Rs 8 respectively and
income of the consumer Rs 116. Optimal values of X; and X, will be

amﬂ?m%gﬁmnmw&mw%mxlxg—mxl,maa@ﬁxlaanX2
8 Gl el f A af o F 2 Fo AU 8 %o qw IwNH & AW
116 ®o R X, WM X, A sggHead qmd e

(1) X, =10, X, =18 (2) X, =18, X, =10
(3) X, =2 X,=8 4) X, =8 X, =92
The market demand function of a firm is given by 4p+ X -16 =0 and Average

_i _ X e ] - .
Cost (AC) = = 2-3X+0-05X“. Find value of X which gIVES maximum profit,

where X = output, p = price
@ﬁﬁmuﬁmg4p+X—l6=Oamaﬂmama

A : ?
(AC) =}—+2—3X+0-05X2 1 X = 3dqIcH, pzm@, X%ﬁmm%%ﬂ
™ T By

(1} X=0-4 2) X=4 (3) X=40 4 X =400
1 0 0

fA=10 1 0l, then A2 ig equal to
a b -1

(1} a null matrix

(2) a unit matrix

(3) -A ™ A

43
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10 0
@ A=|0 1 0f, @ A? TR gm
a b -1
(1) T A AR (2) Th TS TR
(3 -A (4 A

104. If A and B are two matrices such that AB = A and BA = B, then B is equal
to

HﬁamqéAamB%gAB=AamBA=B,asﬁwam

(1) B (2) A 3) 1 4 0

2 2 .
105. If A and B are two matrices such that AB = B and BA = A, then A® + B* is equal
1o '

aft @ R A N B ¥ AB =B I BA=A, @ A%+ B? ST @M

(1) 2AB (2) 2BA (3) A+B (4) AB
a 00 |
106. IfA=|0 a 0 , then value of |adj A | is
0 0 a
a 00 |
i a=|o a O, |adiA| F T B
0 0 @
o 4‘ az
27 (2) a’ @ a {
(1) @
44
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107. I A =[§ 2) be such that A™! = k- A, then k will be

qﬁA=(2 _2]%@&2“%5‘:1:-14,3’%%1#%

5
(1) 19 @ L @) -19 (4 -1
19 19
2 3 1 a4
108. The rank of the matrix A =|0 1 2 -1]is
0 -2 -4 2
(1) 2 (2) 3 (3 1 (4) indeterminate
.2 3 1 4
e A<(0 1 2 -1|= & &
0 -2 -4 2
(1 2 (2) 3 (3) 1 (4) ‘?'Tﬁ\?f(uﬂa
5 5% &4
109. The value of |53 g4 g5 will be
5% 55 56
52 53 54
5% 5% 5% @ um B
5% 55 56
(1§ 152 2) 0
) (3 5% @ 5
(188) 45
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110.

111.

112.

113.

3 : .
if A =[2 1}, then determinant of the matrix A? —2A will be

“ﬁ””B ﬂ%@aﬂa{ﬂﬂ-mmmﬁﬂmﬁm

W @) 3 @5 (@) 25

The mean weight of 150 students in a certain class is 60 kg. The mean weight of
boys in the class is 70 kg and that of girls is 55 kg. The number of boys and
girls in the class will be

(1) Boys : 10, Girls : 25 (2) Boys : 20, Girls : 50

(3) Boys : 50, Girls : 100 (4) Boys : 75, Girls : 140

freht Fen & 1soarﬁmaﬂwam60kg%lsaﬁagﬁmaﬂwasﬂ7okg%
amagﬁm?wmaﬁf?%kg%lagﬁamasﬁﬁﬁmm
U)?@ﬁ'-m,ﬁ?mﬁﬂS (2) &gl : 20, SEfFA : 50

(3) wea ¢ 50, @A 1 100 (4) @S : 75, TGk : 140

For a distribution, the coefficient of variation is 22:5% and the value of mean is
7-5. The standard deviation will be

@W%WWQQ-S%%H%W7'53lﬂﬁﬁﬂmﬁﬂﬂqﬁ1ﬂ

(1) 145 (2) 156 (3) 169 (4) 1-85

. _n. -0-. ' d variance of Y =16. The standard deviation of X will
Wlth bx'{ "'0 5,!' 0 8811

be
_.05 r—--0-8 dadal qE Y = 16. X ol HHh laaEF{ é"“
XY :

(2) 25 (3) 100 @) 256
46
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114. The regression lines are 3X +5Y -42=0 and 2X +Y —80 =0. Estimate of Y
when X =10 will be

& ™ hwEE W@E ¥ 3X +5Y -42=0 A1 2X+Y -80=0. X=10 ¥ Y
AR AW

(1) 0-4 (2) 1-4 (3) 2-4 (4) 34

115. In time series model, technique of Moving Average (MA) is used to measure

{1) secular trend (2) seasonal fluctuations

(3) cyclical fluctuations (4) random term

FAt IEY ¥ wo-a= (MA) 1 o 3 & @ Bt A 3 i g 2

(1) deirciia Sqa (o) e e (3) TR WEE (4) 29 oty
116. Laspeyre’s Price Index (LPJ) is given by

AR B g (LPL) F1 e g 2

2 Pyg _
(1) P - ﬂqﬂ « 100 @) P =E8% 00
120 190
e _ L Pyg, | TP
o S g, 11 @ PY = 2R 1,
090

117. A bag contains 4 white, 5 req

and 6 green balls. Th
random. The chance that white, a mﬁr errd-a-green I:SI f:‘ﬂfls b«:rc drawn ¢

qaanﬁ4m,5mam6.ﬁﬁﬂﬁ%|w#néa AT Frapreh
1m,1mﬁlsﬂﬁa%ﬁmﬁﬁmﬁmmﬁ | R
‘ 1 o
- @ 3 ® 1z (4)3:}
(188) e
P.T.0)



16P/239/3

118. A card is drawn from a well-shuffled pack of playing cards. The probability that
it is either a Diamond or King will be

mﬁ@n‘gﬁﬁ@mﬁmm%lﬁww@MMm@Fﬂm,
T Wifear gt

2 1 4
1 o o — _—
W 33 T ¥ 52 LFT

119. Ten unbiased coins are tossed simultaneously. The probability of getting exactly
6 heads will be

wWﬁ%Wumﬁaﬁ%naﬁms%@mﬁmﬁm#ﬂ
1023

53 63 7
- N o 4y —
e 6 4 256 ) 128 # 1024

120. 1n normal distribution, the maximum probability exists at X = and is given by
Wézq%gmﬁmq@wxwm@?ﬁ%mwn@m%

1
(1) P(X)pax =210 (2) -2—15-0

(4)

2% -G

3
C Hr o

dia has recorded the largest gap in terms of growth

_Year Plan in In :
e industrial sector?

. Which Five
it the services sector and th

rate between
(1) Seventh Plan (2) Eighth Plan (3) Ninth Plan

wﬁmmﬁﬂmﬁmaémﬁﬁmiﬁmaﬂmm%aﬁa
g@a@md%mw?
@) W T (3) Al T (4) zael

48
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The Service Area Approach was implemented under the purview of
(1) Lead Bank Scheme

(2) Integrated Rural Development Programme

(3} Training of the Rural Youth for Self-employment

(4) Mahatma Gandhj National Rural Employment Guarantee Scheme

(3) w—ﬁw%m‘mmﬂmm
(4) Heren TN T g AR T gy

Which of the followin Five-Year Plan has laj '
asid irlclusivvgmwmg ! has laid emphasis op faster, sustainable

(1) Eleventh Five-Year Plan (2) Ninth Five-Year Plan

(3) Twelfth Five-Year Plan

49
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124. Growth of Indian agriculture has been slowed down since the adoption of new
economic policy due to

(a) Low increase in Crop yield
(b) Low public investment
(c) Stagnant Green Revolution Technology

(d) Low retail market prices of agricultural products

Answer the question by celecting the correct combination of Codes given below
Codes :

(1) (@), (o), (c), (@) (2) (b), (©

@) (a), (b), (@ (4) (a), (d)
#mﬁamﬂmﬁ%mmgﬁmmmﬁw%aﬁﬁﬁ

(I)Wﬁmﬁﬁﬂqu
(Q)ﬁﬂt-hﬁﬁ%ﬂ
(3\@:{3?@;‘%9*@&@
(4)$ﬁﬂa°ﬁﬁ“ww-ﬂnﬁ
1y g g § 8 9 W I
P

(1) (a), ), (©) (d)
3) (@), (®) (c)

(2) (b), (0)
4) (@), (@

50
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High Yielding Varieties Programme in India does not include

(1) wheat (2) pulses (3) jowar (4) maize
WA ¥ 3= 399 R wEwn (HYve) § afRw T8 3

(1) ¥ (2) T (3) SR (4) wE

Endogenous technological change is not caused by

(1) FDI (2) population size

(3) population density (4) educational level
Feta el uieds @ g 7 a4

(1) Wodtoamrso (2) W m
(3) e W | ) Mg w0

Which of the following programmes 1'5 no

| t included in rurm infrastructure
development in India?

(1) Integrated Low Cost Sanitation Scheme (ILCSS)
(2) Bharat Nirman

(3) Indira Awas Yojana (1AY)

(4) Total Sanitation Campaign (TSC)

51
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frafifag § @ FH-a1 s@w9 wd § grhu gied & f faem & s=afa it
& famm T 27

(1) a7 @ = dism (ILCSS)
(2) v Bt

(3) 32U mam A (1AY)
(@) T wwwm sPEE (TSC)

128. Which State in India has the lowest infant mortality rate?

(1) Maharashtra (2) Goa (3) Gujarat (4) Kerala
wa & fra e A Y T @ wEE AW R
(1) wewTg (2) T (3) TR (4) ¥

129. Match the different Five-Year Plans of India given in List—I with the annual
growth rate of national income (at 2004-05 prices) given in List—I and select

the correct answer from the code given :

List—I List—II
(a) Eighth Plan () 55 percent
(b) Ninth Plan (iij 67 percent
(c) Tenth Plan | (iii) 7-5 percent
(d) Eleventh Plan (iv) 7-8 percent
Codes : |
@ @® © @ ' @ (b (0 (d
1y () A O 2 O @) @ )
@ v @ () @ (v @) @)

(188) o2
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Th—1 7 fafim dwadfa deemd @ 7w § o g § T e s afz =
(2004-05 # F1t W) & T {1 A ghel R 7 B W ¥ gHRW 3@ T

fou gu %z w9 #§ v s w1 9w e .

g1 g1
(a) 3l Frem i) 55 wism
(b) T T (i) 67 Wl
(c) F@ei g (iii) 75 wfawr
(d) mwEe Freen (iv) 7-8 W
C T4
@ (B (g (d) (a) (b} (g (d)

(1) (i) (1) (i)  (iv) (2) (i) (111) (iv) (i)
B 6@ @ g T B B

First Green Revolution was

Primarily concerned with ;
productivity of ’ e PEoEGCy and

(1) pulses (2) oilseeds

(3} wheat (4) fruits and vegetableg

nmmmﬁﬁm%%a%'mammmﬂm:m@“ﬂ

(1) = (@) fwe (3) i 4) % w5 graeh

53



16P/239/3

131, Natural growth of population is the outcome of the following :

(a) Crude Birth Rate
(c) Migration
Codes :

(1) only (a) (2) only (c)

(3) (b) and (d)

(b) Crude Death Rate

(d) Marriage

(4) (a) and (D)

seEn # wphe gfy e oo 27

(a) e 9 (b) s g @

(c) = (d) Toame

F :

(1) 99 (a) (2) ¥ (c) @) (b) M @ (@) (@) 3O

132. Match the following and select the correct answer from the code given below :

List—I
(a) Critical Minimum Effort Thesis
(b) Knife-edge Equilibrium
(c) Bastered Golden Age
(d) Big-Push Theory

Codes -

@ ©® @ @

(i) vy @ (1) (2)
T G (4)

(1)
3 @

188) 54

List—II
() R. F. Kahn
(i) Rosenstein Rodan
(ili) Leibenstein

(iv) Harrod

@ ® @ @
M G @ )
™ @ B
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g w1 gu Feifea R gu g w9 3 9@ s w1 9w i

qh—1 ga—n
() Soif=s e Tam frgra (i) IRe Tho FH
(b) Fh-m T (i) T TeA
(c) 3w @ftty g (iii) She=wd=
(d) Yo wm Rige (iv) 3TS
g :
@ ® (g (@ @ (b () (d

O G 6 ) @ O @) (v
(3] (ii) (i) (iii) * (i) (4) (iv) (i1) (i) (iii)
The concept of vicious circle of poverty is associated with

(1) J. M. Keynes (2) Ragner Nurkse

(3) Karl Marx (4) J. s. min
Thel % geww A EuRn fFER gEfig 27
(1) Sto Wo W (2) TFR TG (3) ISt Trad (4) S0 Wo P

Whose model of the following economists makes u

e 1oL se of the stock adjustment
principle to explain business cycles?

(1) N. Kaldor (2) J. R. Hicks

(3) P. Samueison (4) J. M. Keynes

55
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A T R oA F % f fefife | st 3 =
g =1 3@m R 27 1 P AR S

(1) o m (2) QO 3o %m
(3) dio @(EAFH‘-! (4) Fo wo FrT

135. By an unlimited supply of labour, Lewis meant
(1) infinite elasticity of demand for labour
(2) infinite elasticity of supply of labour
(3) infinite labour availability in prevailing wage rate
(4) None of the above
oy ) i omgfd @ wfam w1 A o
(1) #m & @1 § < @
@) m f ol § oFw @
' (3) vaferd WeGh @ W Iuered I A
(4) 3w F & A T

136. Members of the World Trade Organizatibn ére required to
(1) eliminate all tariffs
(2) allocate quotas on & first come first basis
(3) prevent their firms from dumping

@) enforce patent rights for patent holders from other countries

(188) 56
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fova =R 1A ¥ wew W ¥ anfem R

(1) &+t 2wl A gem

(2) UB M UERA U F MU W Fe SR HEAT

(3) ST w H @M A A

(4) 39 39} W2 dest F R Ve ot B anp wo

Which of the following issues did the Uruguay Round not addressed?

(1) Migration (2) Intellectual Property Rights
(3} Services (4) Tariff

Frafean & & f 2w ovd 3w 8 o oo

(1) s - Q) Wi T afw

(3) Ward (4) FF (qewm)

Match the following and select the correct answer from the codes given below
List—1 List—ir

(a) Free Trade Area () No restrictions on trade and factor movement
(b) Custom Unions (i) Trade is free and no customs dutieg
(¢} Common Market (il) No customs duties but duties on non-members
(d) Economic Union (iv) Advanced stage of integration |
Codes :

@ b (g (g @ m (d)
(8 ST (I (iii)  fiv) @ ) G (iv) (i
3) (i) (iii) (i) (iv) 4 G (i) iy i)

57
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139.

(188)

T #@ T RE g £ #9 8 wd I F o AR

eI get—I
(a) TET HR & (i) =R 3R FHH AT W H3 Wided T
(b) FA (i) = w2 sl W A e T
) Sl AR (i) Fré e T8 ¥ veg R-weE S W A R
(d) s @ (iv) TR Y I A

CTAE

@ ® © @ @ @b © @
oW w @ @ 0 @ @ @ ™ 0
@ @ @ O 2 @ o @ o O

If the international terms of trade settle at a level that is between each country’s
opportunity cost, then

(1) there is no basis for gainful trade for either country
(2) both countries gain from trade
(3) only one country gains from trade

(4) one country gains and the other country looses from trade

aﬁmﬂmﬁﬂﬁmwmm@ﬁ%ﬁmiﬂﬁmm%
& Tea ?, @
mmmaﬂ%ﬁmwwrﬂmam@m‘m:\ﬁ%
(Q]aﬁagﬁaﬁwﬁmam%
(3]-3@@%31@6&1%%@1%1%%
mﬁwﬂmﬁm‘s’m%aﬂl@iﬂﬁﬂﬁ
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When a nation imposes an import tariff, the nation’s offer curve will

(1) shift away from the axis measuring its export commodity
(2) shift away from the axis measuring its import commodity
(3) not shift

(4) any of the above is possible
9 T W AW Yo e &, @ 3w W w5 S dmo

(1) s st Fets g = o w@ R, @ @ Rawd ar@m
(2)wa3amaz§mqmm%,ﬁag%wm
(3) & Ragam |

(4) s ¥ 3 T W woyfe R

According to the Rybezynski theorem, the growth of ouly one factor at constant
relative commodity prices, leads to an absolute €xpansion in the output of

(1) both commodities
(2) the commodity using the growing factor intensively

(3) the commodity using the non-growing factor intensively

(4) any of the above

A T A oy S e

(1) 2 Fqa
(2) qmmﬁmammma@
lS)ﬂl-mmﬁmﬁmmmqﬁ
(4) IF 7 @ B @&
59
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142. Harrod-Domar model of growth is based on the concepts and their equality of
(1) population and productivity growth
(2) investment and average growth raté of income
(3) actual, warranted and natural growth rate
(4) productivity growth and investment growth
§9g F FUS-IW HiSH HauRonsd qur ST FA @ oTHiE 2
(1) N Aom Ienesal €976

(2) i qur o i S Iha T

143. Opportunity cost version of comparative cost advantage doctrine was

introduced by
(1) J. M. Keynes (2) Kindleberger
(4) Haberler
S T w0 T o fEn e

1) 3o T FE () Aeatt (3) FE A (4) TR

el as an alternative to

144. Solow puilt his mod

aldor's model of growth (2) Ranis-Fei model of growth
(1) ka |

( .
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WEl 3 U Hisw Red Rrew ¥ w9 fiffa foman?
(1) FeSR #1 Ty Afew (2) Wo-w% w1 fwm Are
(3) BUS-IM w1 fywm Freq (4) e =1 fwm wieq

Arrange the stages of €conomic growth in g sequential order :
() The stage of high mass consumption |

fi) The traditional society

(i) The take-off stage

(iv] The drive to maturity

Code :
) @), (ii), (iv), (i) (2) (u), (v), (i), (1i1)
(3) (i), {0), (i), (iv) @) (), (i), (iv), (i)

A w6 e s & T w0 B v B
M 3= SEmR Ied ) ameg

(i) mefE g

(i) 2F 3HTF srgee

(iv) hwsa $ AR srw

¥

(1) @), (i), (iv), (i) () (i), (iv), (), (i
(3) (), (), (i), (iv) (4) (i), (i), (iv), g

61
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146. According to A. K. Sen, famines occurred in India because of
(1) lack of proper distribution mechanism
(2) lack of demand
(3) lack of transportation
(4) shortage of foodgrains '
To o 47 ¥ sEn e § s g g TE R
(1) S foam @ & 72 3 (2) W % w0 W W
mm;mﬂaa (4]@mﬁﬂﬁmﬁﬂ

147. Hedging refers Lo
(1) the acceptance of a foreign exchange risk

(2) the covering of foreign exchange risk

(3) foreign exchange speculation
(4) foreign exchange arbitrage

%ﬁrﬂéﬁrﬂﬂm%
m%ﬁsﬂﬁmmﬁmm
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Experience with managed exchange rates since 1973

(1) strongly supports a fixed exchange rate system

(2) strongly supports a freely flexible exchange rate system
(3) mildly supports a flexible exchange rate system

(4) supports some restriction on exchange rate fluctuations
e R g W w1973 | R

(1) & FoR {fma w vgh 1 e s w2

(2) =3 ¥ 3w i @ g S e 8
(3) v Rfr o wgh @ o w3

(ﬂﬁﬁwﬁti‘w_wmmmma

Which Economie ﬂm‘mhagmtmduwd a new chapter on
Development and Climate Change’?

(I) Economic Surveyv 2004 95

y (2) Economic Survey, 2007-08
(%) Economic Suryey, 2009-10 (4 Economic Survey, 201;_,

m_amﬁma‘wmmmm'm |
27 B — s T Sem s

(1) snfefe gdeu, 2004-05, (2) il wdwm, 200, o

(4) snish gdew, 201,

\&- - -
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150.

‘Golden Age’ model was developed by

(1) Nicholas Kaldor (2) Joan Robinson

(3) J. R: Hicks | | (4) R. F. Harrod

ity g’ wiew frad sRRa fe 27

(1) Frem Hesr (2) & e

(3) Slo Mo feaw (4) 3o Tho 2US
R

64
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